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Combined Graduate Level Examination 2019 Tier Il

[Roll Number

Candidate Name

Venue Name Bhartiya Institute of Engineering and Technology
Exam Date 16/11/2020

Exam Time 10:00 AM - 12:00 PM

Subject CGLE Tier Il Paper | Quantitative abilities

Section : Quantitative abilities

Q1 A B3RC 5:7:4%F 3goad # G Ra & §, 30 9w & 599 &1
HIAMA X 2 Y 1z §| ARG BoTeT oM 45 : 42 1 28 F UG A TaARd fhdl SAar

g arx - Y oE =9
Ans  f1.9:6:7
X26:7:9
X37:9:4
X4+49:4:7

Question ID : 6549781762
Status : Answered
Chosen Option : 1

Q.2 740 ufer kg FHT AT =T B 48 Wi kg FrAT A< T F Wy bw A 7 e wfgw, afe
TEa07 T 354 Wi kg @ & ¥ FUHT 20% F A HiST TR I w9

Ans X 1.5:8
X22:3
¥33:5
X447

Question ID : 6549781764
Status : Answered
Chosen Option : 3

Q.3 @ meEeor 3x -2y =8 3T 4x+3y=5 @ aw fig P« p) W afeeRE dmrd (20 —p) =
AT AT AT

LT
X2 4
X6
Vi 5

Question ID : 6549781781
Status : Answered
Chosen Option : 4
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Q.4

sin2@ 1+cos8 - 9

cosB{1+cos8) cosd

Ans X' 1. sech
v 2 2sech
X 3. 2cosh
X 4 cosech

Question ID : 6549781812
Status : Answered
Chosen Option : 2

Q.5 =¥ U=eHE HEAT a, b 3T ¢ F 13 & Renferg far smar &, ar &aen 9, 7 36t 10 dwwe greg gar
£ S (a+ 2b+5¢) & 13 & Feierg haT AT &, A 9T S9hd A9 &1

Ans X' 1§
X29
v 3
X 410

Question ID : 6549781727
Status : Answered
Chosen Option : 3

Q.6 fy fredr wier 1 faeay & 2.5 W (dm) # 3T 2 &, o T9F T swa A 110 dm® #r 3Ry
2 ¥ oy T dmEEs (dm® &) A S

.
(m=3

Ane v 2 D

X2 —

13
21

3
4.
x 7

F S}

Question ID : 6549781801
Status : Answered
Chosen Option : 1
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Q.7 = =1 7840 Fr FAF T of W A How H#fT s o, A dE T W sk E EE F
T 18% 1 T HiwT AT ST WP

Ans 131,180
< 2 31,160
X 3 31,240
X 4 31,200

Question ID : 6549781761
Status : Answered
Chosen Option : 1

Q.8 36 km/h &1 = § TET e TS, RRET @Y w25 FFs F O FT §1 350 m F g O
# =% 5o TAT (F5E &) e

Ans X1 A8
X 2 56
v's 60
X4 72

Question ID : 6549781767
Status : Answered
Chosen Option : 3

Q9 A B o= e, T T W FAY TE X T Y AR Y F X 7% 79T F & ¢ g A
9% FTH F . A ¥R B F 3T AT U % TgES F FE 5% oAk 0 T e ¥ o A
Fr I 33 km/h &, G B Fr I (kmvh &) w1 T

1
X1 241

Ans

2
v 25

X3 2
X422

Question ID : 6549781768
Status : Answered
Chosen Option : 2

Q.10 Ffy gr=r afRT Treir @E4T 2356xy, 3, 7 3T 11 @ Remew &, a 3x—4y) & 719 719 e
Ans “1_ 10

X25
X3 9
X4 8

Question ID : 6549781729
Status : Answered
Chosen Option : 1
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o IfE cosec 6 = b/a g, ar rc;t:,ﬂ F ST gl
Ane x“/m
b
V2 Vb2 —a®
a
x& b2—£12
b
x4_\l'ﬂ2+b2
a

Question ID: 6549781814
Status : Answered
Chosen Option : 2

= =

Q12 for aw I & HeTS HL AN G F e} S

Tt o & Sienta, wgE x & Shiaw Tidig cor EEe

I T O HaEE 4
3 TodTEr i\, ﬁmﬁsﬁaﬂﬁmﬁ'gwqamwowmmaﬁmwoﬁm
%, 1 geare! f e f geer & wenn B s w9 ) S e foew e
Fawieh 200 IT FHA i, dfhd 220 T FF ¢ (ST & ¢ U T dF 0T H1)?

Ans X 1. 44.4
X2 36.8
X 3 60.6
v 583

Question ID : 6549781820
Status : Answered
Chosen Option : 4
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Q13 4:120f[3+40f{(4—-2)x6+2})]-2%x6+8+3 T A 7T HAT

Ans 1
v 2 .¢|.E

s
X 2 2
s 72

B

;
K4 33

Question ID : 6549781728
Status : Answered
Chosen Option : 1

e

Q.14 =gsier ABCD #, wIge & 3iafter e & v fig E 39 91 & 5 DE 3fiv CE w#en 4D 3R 2C %
efaemss &1 oy 4B = 82° 3 4DEC = 80° &, & 2A = 7

Ans %1 g1°©
2 78°
K3 75°
X4 84°

Question ID : 6549781795
Status : Answered
Chosen Option : 2

Q15 zw maw A T 5 = F8T B & Ry 7 £, A O wemst F a==t Fr g w2 = E R
FET B & 25 9=, HET A # w9 o §, of FET A H == & TGO, :ET B & =l A o w
SR @1 ST 21 HeT A AR B % F=a1 1§41 F 3O A ST

Ans X' 1.18 : 17

X29:8
V319 : 17
X419 : 18

Question ID : 6549781741
Status : Answered
Chosen Option : 3
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Ans

Q16 i cos(20+54°) = sing, 0°<(20+54°)<90° ¥, &r 1 A e fE

X1 2\{5
X 2 3\{5
X32+./3

v 4 2-43

Question ID : 6549781817
Status : Answered
Chosen Option : 4

Ans

QA7 ur @ wfr 3 el S W 7.7 SeT uid Tehs @ ex U Tt e gany wrel R ser g1 g &
2w F el e Reaer T (R #) o, ARy S A siee Beer 105 m ¥

175
2
175
)
185
3
185
6

F S E

W2

X 3

X 4

Question ID : 6549781803
Status : Answered
Chosen Option : 1

Ans

Q18 X s Y Fr Afdw 31 7 3o 5 4 ¥ 3 5% As o FoaETE 9 0 7 71 AR Y e X

& T & W E, A X AR Y B aeg w5 dee e
vig:
K26 :
X3 8:
X4 7

Oy WO ~ 0

Question ID : 6549781750
Status : Answered
Chosen Option : 1
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Q19 fT 717 IrF FT HeTAF FT AT W9T F IeaT &l
& aul # 9 XYZ @ F A 3e9es AR WA (G H)

® Production = Exports

2013 2014 2015 2016 2017 2018

2013, 2014 3#Y 2018 #, FI=i GaRT F=YeT F F f=iata (Export), 2015 & 2017 &% FqeX &
& 3cME (Production) #r GaaT # fraem Siderd ®A o (EAFE & 18 & B & 0T $Y)?

Ans X 1. 43.1

X 2326

V'3 30.1

X4 288

Question ID : 6549781823
Status : Not Answered
Chosen Option : ==
— =
Q.20 #= AT F ab, a = b, 2 3R JTAT HHST FEAT 5H THE ¥ TF ba off 3w E@EAT &) AT &Y
HEATET # AETET AT AT

Ans o 1418

X 2 396

X 3 374

X 4 407

Question ID : 6549781730
Status : Answered
Chosen Option : 1
S
Q21 o} et gl o1 3 Wt e
3-+4-of 5o+-+-of -——(z+- X =) & A AT HIfAT
H 2 3, 8 (2 f 4 4 {2 a8 AJ I

Ans

Question ID : 6549781734
Status : Answered
Chosen Option : 4
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Q.22 A 7 35g B #F 20% ot 5T AT &, B 5@ C & 8% @7 W d=er §1 C 58 D @ 25% @il =W
T g e AR B F AT F ST F HET 260 &, T D =F Faw H wiea 7

Ans X 132,200
v 2 32,430
X 3 32,268
X 4 32,480

Question ID : 6549781756
Status : Answered
Chosen Option : 2

Q23 st iy wror i AR AR T S T, 320,000 F AN W, A 15% Fraw F 2l A H
9T~ THqiE sATs AT HeT|

Ans X 139,000
X 2 39,098
v 3 39,095
X 4 38,896

Question ID : 6549781753
Status : Answered
Chosen Option : 3

Q.24 18 cm 7= 3R 7.5 cm B a1 3 dTASR THE % RS T, THS S5 AR TEW e aen
SIFIHN FIET (cavity) TET ST ¥ O S W F@ TS & ha (cm? H) AT Hee

Ans X 1. 416.25 w
X2 32625
X3270
W4 4725

Question ID : 6549781805
Status : Not Answered
Chosen Option : ==

Q.25 A 3t B & #1f@s 307 @A §1 A, B 3K C 39er Aifds aae & wa 10%, 8% 3T 9% foredr
oA TFe 1 o Fd &1 A 3R B ¥ g ¥ @9 & 5w 2400 81 A 3R B @ R o g a@w C
F1 geT # 7000 3w §| C & AfEE daa AT Hew]

Ans X' 1. 36,000
X 2. 327,000
« 3 330,000

X 4. 325,000

Question ID : 6549781746
Status : Answered
Chosen Option : 3
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@2 0.57-0432+0.35 & 75T 79 S0
Ans X,]' 0}4@

v'2 0498
X3 0.494
X 4. 0.498

Question ID : 6549781732
Status : Answered
Chosen Option : 2

Q.27 AABCﬁ,a#Bquaﬁw%,uﬁ:tanA=%%,an:§+m FT AT T e
Ans x1_ 1

X 2 245

X2

Vi3

Question ID : 6549781815
Status : Answered
Chosen Option : 4

Q28 mrfafssorarA B CikDFdasumr e o aat Fash e F R0 o
FoE 13 BARCEF R A gTg 2 st cAR DE R maETa 2 381 AR A
3R C & BEEr & 9 F= FR 3,510 &, Ot D = Fwwr g Ao

Ans X 1. 74,320
v 2 36,075
X 3 33,240
X 4 74,050

Question ID : 6549781749
Status : Answered
Chosen Option : 2

Q.29 ¥ @ e o & R H G 44 cm § AR A FAE 24 cm Fl O F aF TEF SA%
(em? #) =T HfFw
(=2
Ans X 1. 440
X 2 572
X 3 528
v +. 550

Question ID : 6549781799
Status : Answered
Chosen Option : 4
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Q.30 {1+tanf +secd )1 +cotf—cosecd)
{sect +tanf {1 —sind } ;

Ans X 1. sech
X 2 cosech
X 3. 2cosech
v 4 2sech

¥ sTET B

Question ID : 6549781811
Status : Answered
Chosen Option : 4

O g J11-3V8 = a+by2 & & (2a+3b) F A FF P
Ans X 1 g

w23

X5 7

X 45

Question ID : 6549781740
Status : Answered
Chosen Option : 2

Q.32 oy av I F eI FL AT 9T F e

& au F w0 XYZ gaW et @ 3eTeE 3 W (Fe #)
u Production = Exports

0 3

2013, 2015 3T 2018 F FoggL = Fo 396 (Production), T8 T9 F = F9a GFW Foget
¥ Fo foatE (Export) 1. x% g1 x FT A7 A Hfaw
Ans 1

1. 46—
X 463

1
W2 53—

= I

X5 52

M W

4. 49
X 493

Question ID : 6549781822
Status : Answered
Chosen Option : 2
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Q.33 AMBC#H s AB ¥R AC W FmAm Rg D MR Egw vsn § P DE I BC 3R DE:BC=6:7 %
(AADE &1 &9%a) : (FA#F 9=t BCED & &9wa) = ?

Ans X 1.13: 36

X249 : 13
Vs 36:13
X413 - 49

Question ID : 6549781790
Status : Answered
Chosen Option : 3

Q.34 =i it gu & S-9Erd # A & fEE ¥ 8% I Ao §1 AE 79 Sw-9erd €1 50 wew A
10 #EY oF gu THEE A §, A Av GT-wErd # Awee # AR Ad S|

Ans 1

X162
X 2. 52
X 3 51
v 62

Question ID : 6549781744
Status : Answered
Chosen Option : 4

Q.35 =T 5 AABC # &= BC W fiig D 3N E 3@ w&w § 5 AD = AE 3 /BAD = <EAC ¥ 3y
AB = (3x+1) cm, BD = 9 cm, AC = 34 cm 3T EC = (y+1) cm &, @ (x+y) & A A1 HIfaw]

Ans “1_ 19
X216
X320
X417

Question ID : 6549781791
Status : Answered
Chosen Option : 1

Q.36 AABC #, s=m BC w1 fig D 30 &R f2ug & 5 LADC = 24BAD 1 7% 2A = 80° 3K 2C = 38°
g, @ <ADB = =T AT Hfaw)

Ans "1 goo
v 2 56°
X3 52°
X 4 5g°

Question ID : 6549781788
Status : Answered
Chosen Option : 2
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Q.37 AABC #, sfsm BC = fég M 3k N 5w v fowre & &5 AM L BC & AN, 2A &7 2fastor & 3k M,
B st N % &= f2ww &1 of 4B = 68° § v £C = 26° &, & «MAN & 77 7 HifFT

Ans %1 9go
X2 24°
s 21°
X+ 22°

Question ID : 6549781785
Status : Answered
Chosen Option : 3

Q.38 FAEIT 2+ 5y —12=0 , x+y =3 i y =0 F 7% Famr T B =1 amwe (31 sAE #)
g FfET

Ans X1 9
X25
X3 6
v 3

Question ID : 6549781782
Status : Answered
Chosen Option : 4

=
Q-39 sifgrar s o ¥ 31 kmvh Y T F Tk ¥ AR 6 e &R ¥ e T g ¥ s R

T 4] kmh F T F TN ¥ AR 10 e TE O T O §1 396 T R T F A
o AT e

Ans X 1. B.4 km
v 2 42 km
X 3 5.6 km
X 4 4.8 km

Question ID : 6549781766
Status : Answered
Chosen Option : 2

https://ssc.digialm.com//per/g27/pub/R2076 oK oAkASdaEsmeNPRITMUNGaEN 22076201 £ /22670201 15351655/ 6058570006341681/2405...  12/30
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Q40 T aw oE F 3eTTA FE K 2T T 5 3

= anl # wu XYZ gam Fedt # SueA A W (FeN H)
u Production = Exports

Ly
350
300
50
-

013 ol 015 016 2007 018
ELs

Fe 3 F 9T g@ FoYET F 3NEA(Production), T ¥ (2013 ¥ 2018) H FEI &

stoa fAaTa(Export) & 16% afa ar?
Ans X 1. 2014
v'2 2016
X 32018
& 4 2015

Question ID : 6549781821
Status : Answered
Chosen Option : 2

S

Ans X 1. 95
v 2 65
X 3 85
X4 76

QM Ffrx2+4y2=17 3 xy =28 F@ x>0, y>0 & atx*+8)° & A w7 Fawl

Question ID : 6549781777
Status : Answered
Chosen Option : 2

x+—s— T

Ans x14

Q42 gy 1 -22 g, & x, v 3 z opfew d=Ee §, & 2x+ 3y —2) # A 7 HfEw

Question ID : 6549781736
Status : Answered
Chosen Option : 2
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Q43 743v5 _ 7-3v6
3+/5 3-v5

Ane X115 3k 2
V223t 25
X33 3R 35
X425 3T 3

& AT & &= g

Question ID : 6549781739
Status : Answered
Chosen Option : 2

Q.44 £ == RfAT (right pyramid) T 3TE 8 cm g aTen WEwTg e ¢ 3 sEdhr =
3043 cm g1 RfaE &7 amaae (em’#) A AT

Ans of 1. 480

X 2 36043

X 3. 24043

X 4 360

Question ID : 6549781798
Status : Answered
Chosen Option : 1

Q.45

U TE F HITF FT HR 9T F 3o &

faeft MBA @rdww & faflies o (A, B, C, D R E) #
frdrrar & FEU # anl & R (B & agEn)

Tl # F FEaT = 2100

A B gC aD'mE

A 3R B 7 Rwsar yow orst # Fo §Ean, C 3R D F fevwar sra oEr &

T WEW W x T ¥, S T F @ Frws @9 2

Ans X1 50 3t 55
X 2 65 3T 70
< 3 55 3T 60
v+ 60 3T 65

Question ID : 6549781824
Status : Answered
Chosen Option : 4

https://ssc.digialm.com//per/g27/pub/R2076 oK oAkASYaEsmENPRITMUNdaEN 22076201 £ /22670201 315351655/ 6058570006341681/2405...  14/30
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Q.46 AABC #, D 3T E F#2n: f= BC 3 AC % #iew fag §1 AD 3R BE TA®I W G W Wiaedled gt
g1 afe AD = 18 cm 3T BE = 12 cm &, @ DC &I 5918 (cm #) AT &ifaw)

Ans 110
X2 8
X6
X9

Question ID : 6549781786
Status : Answered
Chosen Option : 1

Q.47 mﬁﬁnﬂ% mm%&ﬁ?m,a‘rwﬁﬁnﬁ% mm%lﬁqﬁﬁ@ﬁmwg T
e ¥ e o Reer = e s 9w = &7

Ans 1

X
W2 .

X 3

F 3

Sl 2= gle @

Question ID : 6549781735
Status : Answered
Chosen Option : 2

e

Q.48 APQR #, PS, S 9T QR ¥ fehr amom 4P 7 3 295 &, PQ = 16 cm, PR = 22.4 cm 3%
QR = 9.6 cm &1 SR & #=% (cm #) T ffew)

Ans X1 44
V256
X3 4
X4 6

Question ID : 6549781787
Status : Answered
Chosen Option : 2
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Q.49 Rt FeeTeT UTH & TR Hr o9 1584 om ¥ 3t s SIS 1 m ¥ swe faer e o
(E3HeE & 91 T T I%) AT Hehal 287

_ 22y

=2,

(m
Ans X 1. 186.4
X 2 200.8
< 31982
v 4 199.6

Question ID : 6549781807
Status : Answered
Chosen Option : 4

Q.50 gt arewr g P & O &g ame ged a% Wi 7% Sféw (secant) PAB, 3 # g A iR B W
gfe=Sfed Far §1 T OP = 17 em, PA = 12 cm 3R PB = 22.5 om ¥, & 30 % = =1a
EQiE L

Ans X1 2/3em
K 2417 em
K3 342cm
v 4 419 cm

Question ID : 6549781792
Status : Answered
Chosen Option : 4

Q51 S morFrar gaT aeE P A e R A g s e 10% & e w
THATE BT 8, AT wedw fRed 35,808 &, & 3§ dear & o M 3@ s Aa Hifew

Ans X 1. 31,563
X 2 31,602
v 5 T1,536
X 4 %1632

Question ID : 6549781754
Status : Answered
Chosen Option : 3
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Q.52 = Rywar e aTg W HT qeU T 40% HOF 3RS waT § 9F 60% FEg W sfea mEw W 10%
TE T ST § 3N O avg & T #pw W 50% T SH 99T §1 3HET g AnH/Ele Wi
Hifare

Ans X1 gifer 3.6%
v 2 T 3.6%
X s gifer 2.8%
X 4 FeT 2.8%

Question ID : 6549781759
Status : Answered
Chosen Option : 2

https:/issc.digialiirom/per(galipbi2307/tqlesione/AssessmentORHTMLMode /2967020 121/27 020121S3D1955/160585709063..

Q53 gfra+b+c=7 W a®+ b3 +c2—3abc=175 & & (ab+bc+ca) & 7 AT Hfawl
Ans 4 6

w23

K37

K49

Question ID : 6549781779
Status : Answered
Chosen Option : 2

Q.54 it &d @ 8% W 9T A= AT &1 IfE =% 714 ¥fUw F &= man, & ameT 15% BTl 18% ey
g F= F e, &AL = B gem e ger e

Ans X 1. 311,934

o2 ¥12,036
X 3 312,138
X 4 312,240
Question ID : 6549781755
Status : Answered
Chosen Option : 2

Q.55 0 &z 7 w g #, T AB 3Rk CD, Rig P wx fa=oRe s §1 ARy A0D = 32° sk
+COB = 28° & ar 2APD = AT fFras &= 2em?

e 1 26° 3 30°
X 2 22° 31T 26°
X 3 18° 3 22°
X 4 30° 3T 34°

Question ID : 6549781794
Status : Answered
Chosen Option : 1
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Q.56
oy 22— 7x+5=0%, Efrx2+§ FT AT 71T ST
Ans

;
v 74_
3
X 2 94_
;
X s 95

;
X4.5§

Question ID : 6549781778
Status : Answered
Chosen Option : 1

Q.57 Reshma buys two articles A and B for T1,734. She sells A at a loss of 16% and sells B at a gain of 20%. The sellin;
y & 3
price of both the articles is the same. If A is sold for T1,147.50, then the gain per cent on A is:

Ans X110

Question ID : 6549781758
Status : Answered
Chosen Option : 2

Q58 e A AR B R W EAr R i s e dm e i Fm T W asT C
g x fiwe & @l fFar o "ear 1 S 9= 9SY vw Ay @ 9§ & @ 10 e 7 R
I &1 x AT AT FEw

Ans «1_ 20
X215
X318
X4 24

Question ID : 6549781771
Status : Answered
Chosen Option : 1

Q39 \ABC &, O s=a:dg & 3k «BOC = 135° &1 £BAC & &9 #1d T
Ans x1' 800

X 2 B5°

X3 45°

v 4 90°

Question ID : 6549781784
Status : Answered
Chosen Option : 4
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Q60 s ag AF Fam xR y e FT 3T 51 2 ¥ 3 Ty oy B F 3w gyl oy 30 4 F
faerg C, A 3R B #1 4 : 5 % 3 # fae 99 @1 e &l Fserg C # « # giowe 79
ESiE |

Ans 5

W 1. 55
9

X 2 b6

4
3. i
X 3 44 3

X 4 45

Question ID : 6549781765
Status : Answered
Chosen Option : 1

Q.61 a o
Ilﬁa.'b.'c':%:%:% g, (—ﬁ'g:g:; =
Ans of1.9:8:24
X212:9:8
X38:9:24
X4+49:12:8

Question ID : 6549781747
Status : Answered
Chosen Option : 1

Q.62 7 ey TEeges # 16 4= §, O 59 I0% Hiane Hor w79 (B A7) w9 Ao
Ans X 1. 154
v 2 1573

X3 159%

X 4 155

Question ID : 6549781796
Status : Answered
Chosen Option : 2
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Q.63

Scos B0°+4 sec 30°—tan-45°
tan B0 —sin230° —cos245°

Ans 67
P O i
24

22
9
19
9
67

4.2
v 27

FT AT AT FAT

X 2

& 3

Question ID : 6549781816
Status : Answered
Chosen Option : 4

Q.64 A&ﬂ'{B,S:B?Wﬁ@$mmm§|4n@ﬁm,Am@w% ST FRrTeTET

%, S B el o #F 332 % #r ot Fe ¥ 26.3 AW & T o # B & e (2 e #) 7
Fifem)

Ans o 1. 3.96
X2 261
X3 369
X4 234

Question ID : 6549781763
Status : Answered
Chosen Option : 1

Q.65 g ZHWEN 355 Wi kg #T aT ¥ 20 kg ==e, I50 i kg T &7 ¥ 25 kg =@e 3T T60 9hT kg
2T T 35 kg =T TleaT ¥ 5% T 9T 150 fr 1 = s #1197 e & mb S v
e & 3R X T # 762,56 Wi kg T W F A9 ¥l W 394 & 5EF o1 gfaed A
FfaT)

Ans X 1.92
X 2125
V3 88
<4105

Question ID : 6549781757
Status : Answered
Chosen Option : 2
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Q.66 zfr x = sec 57° &, ar
cot233° + 5in?57° + 5in?33° + cosec?57° cos?33° + sec?33° sin?57°, F ST gl

Ans X1 x2 41
1

2.

x2+1

X3 2x2 41

Wi x240

Question ID : 6549781818
Status : Answered
Chosen Option : 4

Q.67 o =1¢ 1 emEA FT AR T F 3K &

Tt MBA wrien # Rffr &5 (A, B, C, D 3R E) &
frdrraan & Fau F ol & fdwr (B & sgER)

mA ubB uC uD mE

E & Rewsar o orst & 'En, C A Rrevwrar sea ot & goer # e wioe o 2

Ans o135
X2259
X3 32
X4 304

Question ID : 6549781825
Status : Answered
Chosen Option : 1

% sec A (sec A+ tan A)(1 — sin A)

(cosec? A — 1)sin*A i
Ans X 1. cotA
X 2 cosA
V'3 sec?A
X 4 cos?4

¥ ST B

Question ID : 6549781809
Status : Answered
Chosen Option : 3
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Q.69 128 cm x 36 cm x 72 cm AT O 3 uifcas ooy =1 Ruerar ST § 3R §E A a8
9 AT A Bl T F Fo T 8w 3 W 8 uAl % T 7SO & we & ANThe # A

e T

Ans 1.7 :8
X24:7
X3 7:12
X4+2:3

Question ID : 6549781808
Status : Answered
Chosen Option : 1

Q.70 710,500 & uf, 1w wruReT TS A RBPAT @ ) &Y I F T13,650 g IS F1 FHS O, wA
T W1 a8 & T & Seelr, IR s i a3 S Tty TR R S o §
(%1 ¥ fweaw 7= #)?

Ans o 1. 712,134
X2 712,314
X3 312,124
X4 312,143

Question ID : 6549781752
Status : Answered

Chosen Option : 2

Q71 574(0.25)°+125(0.05)%
(0.75)2-0.25%0.5
Ans X 1.0.25
V21
X 3 0.75
X405

FT AT AT HI=T)

Question ID : 6549781733
Status : Answered
Chosen Option : 2

Q.72 g cm 3= 31 79 AT Ao F NTAA 392 wem® B THH TF TG &% (em® H) w7 Ffew
Ans X 1.210 w

K 2161 =

K396

vi112 1

Question ID : 6549781806
Status : Answered
Chosen Option : 4
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Q73 g 2 W F v T Fr e o a¥ 6% ¢, 3@l 3 a8 & v iy a¥ 10% &, 3R 5 a9 & =€
Fr oyt F BT 9fy 99 12% g1 3T 7 9€ 9 G ==few = omer s F w7 12,771
foemar &, O 3o g e fr 1 iy | fifEw

Ans X 1. 320,000
X 2 319,300
X 3 319,450
v 4 319,350

Question ID : 6549781751
Status : Answered
Chosen Option : 4

Q.74 3 ot Fr Temalt 1 I 5 0 6 7 A 5% aTAl 7 IS 8 1 9§l I Il @ g

AT AT

Ans X 1. 25 : 32
W2 32:25
X3 20: 27
X427 :20

Question ID : 6549781800
Status : Answered
Chosen Option : 2

Q.75 #m=T x 3 w5 & w5 wwm &, w955, 1027, 1075 @ Rsntem fRar o &, o 9w A 7
FAW ANFT I @Ir §| T A @ FF-w x F 0 (factor) A §2

Ans X1 g
X2 8
X3 4
v 416

Question ID : 6549781731
Status : Answered
Chosen Option : 4

—_—
Q76 R P s E EF AU F R T4 IRF L A H IR T w A H AN T G
ﬁ?ﬁr% & ST §1 = e F W AR ey F @ e A S

ans X110
X212
X313
v 11

Question ID : 6549781737
Status : Answered
Chosen Option : 4
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Q.77

(tan?A+ cot?A—2) — sec? A cosec’A #1 AT AT HIT=TI

Ans X1 1
o —4
X3 —1
X4 4

Question ID : 6549781810
Status : Answered
Chosen Option : 2

Q.78 afy A, B & 40% FH § 3T C, A 3T B ¥ Inwa &7 40% 3, & B, C ¥ frae wiaeg 3fow 372
Ans X136
’

X2 401

;
s 56

X 4 80

Question ID : 6549781742
Status : Answered
Chosen Option : 3

Q79 =z x & 19, 28, 55 T 91 F ¥ veiw F ¥ TR AT §, F 5H FH H Ioq GEAW, FAGIS F
FE 8l (x+9) 3t x? F @7 FeAEEE (mean proportional) AE HTST

Ans ?(1- 32
v 2 28
X 27
X4 24

Question ID : 6549781748
Status : Answered
Chosen Option : 2

s
Q.80 = ¥ 5T F IFAER e 1.2 m T &) =HEr AF B=w 24 om ¥ 3 Tew s & IO
A e A AE 5 em ¥ AR FT geaAw= (kg H) I &4, a1 om® S wgemA= 8 g
|

Ans  of 19072 @
X2 8928 1
X3 846872 1t
X4 84575 1

Question ID : 6549781804
Status : Answered
Chosen Option : 1
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Q81 ¢ o 45 e & arw # Rvlda Rer # 5 km it o & Rer F 7 km ST wwd ¥l 7 25
et & unr Fr T & 5 km 3t g F RBadig Rer & 2.5 km o 37 @Rt 1 unr B Rl feer
# 6 km I # 3 e wEw (e &) senm?
Ans x 1. 24
v 36
X 3 30

X4 32

Question ID : 6549781769
Status : Answered
Chosen Option : 2

Q.82 APQR#H,£P=90° §1 S 3T T F#n: =7 PR 3K PQ & 7em fig &1 RQ? (QS?+RT?) & 7= 7
Hifere

Ans 4
J1.§

1

}{2.E

3

}{3.1

2

}(4.5

Question ID : 6549781783
Status : Answered
Chosen Option : 1

_—

Q.83 AABC #, =1 AB 3t AC W F#: Rig D ¥ E 5w 9 fewa & & DE || BC 81 of¥ AD = 5 cm,
DB = 9 ¢m, AE = 4 ¢m 3T BC = 15.4 ¢cm &, & DE 3T EC & o@E & I (cm #H) AT
Fifael

Ans X 1134
V2127
X108
X+ 116

Question ID : 6549781789
Status : Answered
Chosen Option : 2
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Q.84 Fmam x FF T T oW TEA ¥, O 10424 § § veR WX TS 07 @9 HEAr 9T g ¥ 9 o
T HEm A W, B x § IOT e I T 99 FE W g

Ans X1 g
X22
v 5
X443

Question ID : 6549781738
Status : Answered
Chosen Option : 3

Q.85 O &y == 3 #, AB =@ ¥ P 3 Q, =9r@ AB ¥ wAW faar W e W 2 fig #1 AQ AR BP, C
o7 wfa=efig &= &1 ofE 2POQ = 54° ¥, ar 2PCA = A @ FifrT)

Ans X1 g4°
X 2 56°
v 63°
X4 72°

Question ID : 6549781793
Status : Answered
Chosen Option : 3

Q.86 3 cm fywar A g Hr W TR AE w ReewEr F= ¥ o R & O deeR i s e
ar g3 & 2 A= A Bear 2 em HR 1.5 om B &1 Il 7w 8 #vwer (em? /) 7T
Frfam)

25
x1' I'ﬂf

W2 257
25
XB' ?H

X450m

Ans

Question ID : 6549781802
Status : Answered
Chosen Option : 2
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Q.87 1 xE43x7 1
Ilﬁ."x—;=5,x¢0§.’, m Eﬂmmmﬂ'{
Ans 3
1. —
" 8
4
2. .0
X 9
13
3.
v 12
11
4, .
X 13

Question ID : 6549781780
Status : Answered
Chosen Option : 3

Q.88 w5 WfRaw w1 #=r & BT, A AR B 1 I HwET AT 7 5 ¥l T @ Few w1 ad
gu, @ 3 w17, Re # 9@ T wea ) s A 5@ a @ 60% T e R # oqm Swm

Ans X116 fam
X221 few
v 18 R=
X+ 15 fas

Question ID : 6549781773
Status : Answered
Chosen Option : 3

Q.89 Yo, Hwer 3 F 20% s g1 Y 3O W A 20% H I B & HR ww F 29% F g B g
a1 3w 7= 7 iy A" fiiEw

Ans X 1. B5%
X 2 60%
V'3 65%
X 4. 54%

Question ID : 6549781745
Status : Answered
Chosen Option : 3
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Q.90 240 m F=r wEEr & ofd T, e @ & g v o F1 sEAES FOrT FA: 30° AT 60° B W H
Fr$ ik T ¥ 3 g F A ER (m #) 79 fifew

X 1. 80(V3-1)
X 2. 120(V3-1)
X 3. 120(2-43)
v 4 80(2-43)

Ans

Question ID : 6549781819
Status : Answered
Chosen Option : 4

Q91 o orf Fr sremEa wY AT woT T I &

freht MBA riew F R & (A. B, C. D3 E) &
Frinrra & waU A OBl & e (B & gan))

ol & & e = 2100

®mA wB uC aD mE

Ify B & Fewear wog 7W 3R Afer ot w1 e 4 ;3 § AR D # fewear s g
A aAfger ot = oagTa 8 ¢ 7 §, & D F Afer ot & wew, B F [©w ot # @ew @
fohae 9faerg &7 & (GuHeE & a8 T T o% [0 H1)?

Ans X 1. 40.2
X 2 55.8
X3 714
v 417
Question ID : 6549781826
Status : Answered
Chosen Option : 3
.

Q.92 w==fry gramait & 3tEa 54 T "R 13 gt @ sitoa it 3fw 13 dwumst = osiea s 528

sty 62.2 #1 ofy 137 T Fr B R o G O demmt & e (FaEeE F oA e T
o) AT ]

Ans o 1. 0.2
X2512
X 3 50.6
X4 498

Question ID : 6549781774
Status : Answered
Chosen Option : 1
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Q.93 foreit o & HgeTET A ST ST B # o B wEw Hen 40 A 52 ¥ W ot & it &
Hea =R 75 ¥1 3 AT A & ors a5 e TR, AT B & o & Aied R w 20% At
¥, 3 3T B F ot @ HET TR A FifEw

Ans ¢ 1. B9
X 2 85
X 3 83
X471
Question ID : 6549781775
Status : Answered
Chosen Option : 1
Q.94
sin® +cosf—1 1+5ing

b4
sinf —cosf+1 1—sing ol Hle ATd ml

Ans “1_ 1

X2 —2
X 32
X o — 1

Question ID : 6549781813
Status : Answered
Chosen Option : 1

Q.95 10 cm F=$ arer B Fw A w1 AUR UE W § AR swer wmas 160 om® ¥ Rimw @ ga e
#%er (em? H) g Aifa)

Ans X 1.176
X 2 200
v 192
X 4180

Question ID : 6549781797
Status : Answered
Chosen Option : 3

Q.96 Zfr (x4 y)3+8 (x —1)® =(3x+A4¥)(3x2 + Bxy + CyH) E, ar A+B+C T A1 71F DT

Ans 10
X2 4
X33
K42

Question ID : 6549781776
Status : Answered
Chosen Option : 1
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Q.97 25% of (50% of 30% of 150}
40% of 2250 !

Ans o 1. 0.625%
X 2 0.25%
X 3 0.225%
X 4 0.825%

F ey 2

Question ID : 6549781743
Status : Answered
Chosen Option : 1

Q.98 faal 777 W 30F HT Je¥ ¥ 25% A% Few Hfea fFw onr ) oy aE mew W% dr g &
ST & 3T T o 5.5% T A g & &« F A A Fie

Ans o 1.15.6
X 216.4
<3154
X4 136

Question ID : 6549781760
Status : Answered
Chosen Option : 1

Q.99 zr = iy 7 Afker e 18 F 28 BT # 77 W 7oA £ = 6 o9 AR 16 weer s@oaE =
11 &7 & 97 ¢ & §1 5 T9 AR 4 Afer v @ o 36 @ # B G # o s

ans X 1. 20
V2 22
X318
X< 14

Question ID : 6549781772
Status : Answered
Chosen Option : 2

= =

Q100 A forelt vt & - oeT &1 30 T & o @ ¥ B, 3 A & - o A 24 R F a @ ¥l F
NWRATFF T P FT I FI C, W HFT F 8 Ra F W et ¥1 A B R C wF Ay
ot 38 T F Rhaw G F o w0

Ars o112 faE
X215 &=
X310 fRer
X418 fast

Question ID : 6549781770
Status : Answered
Chosen Option : 1
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